SIGNATURE PAGE

RFQ# F-7-2024

To the Board of County Commissioners of the County of Monmouth:

THE UNDERSIGNED HEREBY DECLARES THAT
I (WE) HAVE CAREFULLY EXAMINED THE SPECIFICATIONS.
I (WE) HEREBY CERTIFY PRICES QUOTED ARE IN ACCORDANCE
WITH YOUR REQUIREMENTS.

_	11 11 11 11
Company Name:	ALS group USA Corp. aba ALS Environmenty
Preparer's Name:	Shilah Summy (PRINT)
Signature:	Shile Sum
Address:	301 Fulling Mill Road (DATE)
	Middletown PA 17057
Telephone No.:	717 944 5541
Fax No.:	717 944 1430
E-Mail Address:	shiloh. Summy@alsglobal.com
	(This should be the email where Contracts would be sent)
Contact Person:	Shiloh Sammy
FEIN:	
(Federal Employee ID)	

County of Monmouth

REQUEST FOR BID

---- This Is Not An Order ----



RFB# F-7-2024

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

FURNISH LABORATORY SERVICES FOR THE MONMOUTH COUNTY DIVISION OF RECLAMATION CENTER, TINTON FALLS, NEW JERSEY AND THE MONMOUTH COUNTY HOWELL LANDFILL, HOWELL TOWNSHIP, NEW JERSEY FOR THE PERIOD JANUARY 1, 2024 THROUGH DECEMBER 31, 2024 WITH TWO (2) ONE-YEAR RENEWAL OPTIONS

RFB must be received no later than:

October 4, 2023 10:30AM

For Delivery to:

Division of Reclamation Center, Att: Anthony Morrell

6000 Asbury Avenue, Tinton Falls, NJ 07753

Delivery Date:

1/1/2024 - 12/31/2024

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
1	MONTHLY LEACHATE SAMPLING AND ANALYSIS OF THE PARAMETERS LISTED IN TABLE 1-1 AT THE MCRC, INCLUDING ALL BLANKS, LABORATORY REPORTS & COMPUTER DISKS AS SPECIFIED HEREIN	72 UNIT(S)	\$402.00	\$28,944.00
2	MONTHLY LEACHATE SAMPLING AND ANALYSIS FOR VOLATILE ORGANIC COMPOUNDS AND SEMI-VOLATILE ORGANIC COMPOUNDS AT THE MCRC INCLUDING ALL BLANKS, LABORATORY REPORTS & COMPUTER DISKS AS SPECIFIED HEREIN	12 UNIT(S)	\$166.00	\$1,992.00
3	ANNUAL LEACHATE PRIORITY POLLUTANT SAMPLING AND ANALYSIS AT THE MCRC, TABLE 1-2, INCLUDING ALL BLANKS, LABORATORY REPORTS & COMPUTER DISKS AS SPECIFIED HEREIN	1 UNIT(S)	\$773.00	\$773.00
4	ANNUAL LEACHATE POLYCHLORINATED BIPHENYL (PCB) SAMPLING AND ANALYSIS AT THE MCRC, TABLE 1-3 INCLUDING ALL BLANKS, LABORATORY REPORTS & COMPUTER DISKS AS SPECIFIED HEREIN	1 UNIT(S)	\$60.00	\$60.00
5	QUARTERLY SAMPLING & ANALYSIS OF TWENTY-FIVE (25) GROUNDWATER MONITORING WELLS AT THE MCRC FOR THE PARAMETERS LISTED IN TABLE 2-1, INCLUDING ALL BLANKS, LABORATORY REPORTS, NJDEP REPORT FORMS & ONE CD-ROM FOR EACH EVENT	100 UNIT(S)	\$443.00	\$44,300.00
6	QUARTERLY ANALYSIS OF ONE STORMWATER BASIN OUTFALL SAMPLE AT THE MCRC FOR THE PARAMETERS LISTED IN TABLE 3-1, INCLUDING ALL BLANKS, LABORATORY REPORTS AND ONE CD-ROM FOR EACH EVENT	4 UNIT(S)	\$220.00	\$880.00

County of Monmouth

REQUEST FOR BID

---- This Is Not An Order ----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

FURNISH LABORATORY SERVICES FOR THE MONMOUTH COUNTY DIVISION OF RECLAMATION CENTER, TINTON FALLS, NEW JERSEY AND THE MONMOUTH COUNTY HOWELL LANDFILL, HOWELL TOWNSHIP, NEW JERSEY FOR THE PERIOD JANUARY 1, 2024 THROUGH DECEMBER 31, 2024 WITH TWO (2) ONE-YEAR RENEWAL OPTIONS

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
7	QUARTERLY ANALYSIS OF SIX STORMWATER BASIN OUTFALL SAMPLES AT THE MCRC FOR THE PARAMETERS LISTED IN TABLE 3-2, INCLUDING ALL BLANKS, LABORATORY REPORTS AND ONE CD-ROM FOR EACH EVENT	24 UNIT(S)	\$73.00	\$1,752.00
8	QUARTERLY ANALYSIS OF ONE STORMWATER BASIN OUTFALL SAMPLE OR GREYWATER TANK AT THE MCRC FOR THE PARAMETERS LISTED IN TABLE 3-3, INCLUDING ALL BLANKS, LABORATORY REPORTS AND ONE CD-ROM FOR EACH EVENT	4 UNIT(S)	\$81.00	\$324.00
9	SEMI-ANNUAL SAMPLING & ANALYSIS OF SEVEN STORMWATER BASIN SAMPLES AT THE MCRC FOR THE PARAMETERS LISTED IN TABLE 3-4, INCLUDING ALL BLANKS, LABORATORY REPORTS AND ONE CD-ROM FOR EACH EVENT	14 UNIT(S)	\$141.00	\$1,974.00
10	QUARTERLY SAMPLING & ANALYSIS OF WASTEWATER FROM ONE MANHOLE AT THE MONMOUTH COUNTY HOWELL LANDFILL FOR THE QUARTERLY PARAMETERS LISTED IN TABLE 4-1, INCLUDING ALL BLANKS, LABORATORY REPORTS & ONE CD-ROM FOR EACH EVENT	4 UNIT(S)	\$691.00	\$2,764.00
11	SEMI-ANNUAL SAMPLING & ANALYSIS OF WASTEWATER FROM ONE MANHOLE AT THE MONMOUTH COUNTY HOWELL LANDFILL FOR THE SEMI-ANNUAL PARAMETERS LISTED IN TABLES 4-1 & 4-2 INCLUDING ALL BLANKS, LABORATORY REPORTS & ONE CD-ROM FOR EACH EVENT	2 UNIT(S)	\$657.00	\$1,314.00
12	QUARTERLY SAMPLING & ANALYSIS OF GROUNDWATER FROM FOURTEEN (14) MONITORING WELLS AT THE MONMOUTH COUNTY HOWELL LANDFILL FOR THE PARAMETERS LISTED IN TABLE 5-1, INCLUDING ALL BLANKS, LABORATORY REPORTS, NJDEP REPORT FORMS & ONE CD-ROM FOR EACH EVENT	56 UNIT(S)	\$453.00	\$25,368.00
13	ANNUAL SAMPLING & ANALYSIS OF GROUNDWATER FROM FOURTEEN (14) MONITORING WELLS AT THE MONMOUTH COUNTY HOWELL LANDFILL FOR THE PARAMETERS LISTED IN TABLE 5-2, INCLUDING ALL BLANKS, LABORATORY REPORTS, NJDEP REPORT FORMS & ONE CD-ROM FOR EACH EVENT	14 UNIT(S)	\$296.00	\$4,144.00

County of Monmouth

REQUEST FOR BID

---- This Is Not An Order ----



RFB# F-7-2024

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

FURNISH LABORATORY SERVICES FOR THE MONMOUTH COUNTY DIVISION OF RECLAMATION CENTER, TINTON FALLS, NEW JERSEY AND THE MONMOUTH COUNTY HOWELL LANDFILL, HOWELL TOWNSHIP, NEW JERSEY FOR THE PERIOD JANUARY 1, 2024 THROUGH DECEMBER 31, 2024 WITH TWO (2) ONE-YEAR RENEWAL OPTIONS

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
14	ANNUAL SAMPLING & ANALYSIS OF WELLWATER FROM FOUR (4) OFFSITE RESIDENTIAL WELLS NEAR THE MONMOUTH COUNTY HOWELL LANDFILL FOR THE PARAMETERS LISTED IN TABLES 5-1 AND 5-2, INCLUDING ALL BLANKS, LABORATORY REPORTS, NJDEP REPORT FORMS AND ONE CD-ROM FOR EACH EVENT	4 UNIT(S)	\$690.00	\$2,760.00
15	QUARTERLY SAMPLING & ANALYSIS OF SURFACE WATER SAMPLES FROM FOUR (4) STREAM LOCATIONS AT THE MONMOUTH COUNTY HOWELL LANDFILL FOR THE PARAMETERS LISTED IN TABLE 6-1, INCLUDING ALL BLANKS, LABORATORY REPORTS, NJDEP REPORT FORMS AND ONE CD-ROM FOR EACH EVENT	16 UNIT(S)	\$262.00	\$4,192.00
16	ANNUAL SAMPLING & ANALYSIS OF SURFACE WATER SAMPLES FROM FOUR (4) STREAM LOCATIONS AT THE MONMOUTH COUNTY HOWELL LANDFILL FOR THE PARAMETERS LISTED IN TABLE 6-2, INCLUDING ALL BLANKS, LABORATORY REPORTS, NJDEP REPORT FORMS AND ONE CD-ROM FOR EACH EVENT	4 UNIT(S)	\$236.00	\$944.00
17	ANALYSIS OF FOUR (4) MISCELLANEOUS SOIL SAMPLES FOR THE PARAMETERS LISTED IN TABLE 7-1, INCLUDING LABORATORY REPORTS AND ONE CD-ROM FOR EACH EVENT	4 UNIT(S)	\$349.00	\$1,396.00
18	ANALYSIS OF TEN (10) MISCELLANEOUS SOIL SAMPLES FOR THE PARAMETERS LISTED IN TABLE 7-2, INCLUDING LABORATORY REPORTS AND ONE CD-ROM FOR EACH EVENT	10 UNIT(S)	\$84.00	\$840.00
19	ADDITIONAL SAMPLING AND ANALYSIS AS AND IF REQUESTED			\$5,000.00
	** ENTER \$5,000.00 IN THE TOTAL PRICE COLUMN **			

TOTAL:

\$129,721.00

**** SEE ATTACHED SPECIFICATION

PLEASE DIRECT ALL FORMAL BID INQUIRIES IN WRITING TO FORMALBIDQUESTIONS@CO.MONMOUTH.NJ.US